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No. of Questions/ ¥ ¥ wwar : 100
Time : 2% Hours ' Fuull Marks - 300
MZ%“‘%} (ot : 300

Note : (i} This question booklet contains 108 (hundred) questions in all (38 in
Section—A and 70 in Section-B), Attempt as many questions as you
. can. Each question carries 3 (three) marks. One mark will be
deducted for each incorrect answer. Zero mark will be awarded
for each question. .
W we-gfRm § o 100 () v & (ave-o F 30 3 wow-a 7 70) |
HftrwTien ST ) 01 S W W | T 3 () 3w ) ) e
worn Tt % g O oiw w1z T | T IR TR W SRS
o | ' :

{fﬂlfmﬁmﬂMﬁummhhMMmme
correct answer, choose the closest one.
R wifts 4= s Tt I & P i o, @ Pz aft s
-al -

(1) (Turn Over)
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4. In these days of informational communication technology, mhm
dered as a process of
(1) Communication oaly
{2) Interaction only
(3) Skillful activities only
(4) Skillful communication |
o Wi e i e , e ) v e sl % e 3 A o & Rwe
(1) s=wn 3 @ |
(2) sl % @
(3) grrevyyt faramases ams g
(4) yorey wRver @

5. lf'umumnutm:mmw ﬂ:mbnwmmﬂmenhumwm
citizens ?

(1) Through teaching

(2) Through proper guidance and counselling
(3) Through strict discipine

(4) By following values

(4} AContimued)



15/e4re
| gz:mfﬁmhmt' R e A e R
(1) Rt g1

(2) 3w e v ol gro

(3) %2R A T

(4) et % Fgwm g

- With enhancement in the duration of teacher education programmes, availability
of trained teachers will be decreased. To resoive the issue, it is required that

(1) Stict selection crisera i to be relgved
(z}gwm&mmmum
(3) Retirement age of teachers is to be increased
G)Mad.mhmnhb:mhmlﬂiﬂ

s foer sredEw 6wl W & wow, sivfi st 6 vefiy e e )
W R W W W % g 3 e § R

(l}ﬂ\tminﬁﬁmm

(2) werwt ¥ fawg A otk gRad wrf
(3) weawt & gt e o g vl
{4)ﬂmﬁ1wWagq=hﬁgk#m

(5) (Tirm Over)
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T m.mwcm:m students used tobecome
(1) Active learners (2) Passive learners
(3) Competent leamners (4) Self dependent leamers
o ST i /U s i, ey W I §
(1) wiea Rftrmree (2) Ffe st
OL E L (4) smoafnfe st

8. If teaching is considered as a tripolar process, then teacher and students are
surely the two poles. Which one of the following is its third pole 7

(1) Curriculum tz} Time table
* (3) Principal (4) Parents

a2 frew # 7 R-gd o & w9 F 3@ om @ e f) et AR e
Tl B g it | Rl 3 & v e e g e 2

(1) T (2) F-woh
(3) SR (4) wfirres
9. Acquisition of skills is buimnyoamn;dvmhmeprmor
(1) Teaching (2) Training
(3) Instructinn () Dnmtumn

(6) (Continued)
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whoer wew, e Wi v
(1) Fsmw wfiFn @ (2) wfinaroy wfiem @
(3) rgte e @ (4) T f%em il @

10.1f philosophy is considered as the brain nfedwudun,psychologml}'bemi-
dered as its :

(1) Heart (2) Hand

(3) Body (4) Spirit
ﬂmdmmmtnﬁmﬂmmﬁﬁrﬂmﬁm
(1) %= wFn n wwar & (2) ¥ v T e f

(3) Wl T 1 o © (4) s wE W wn

11, In the given number series, nlmmcwmufnmbmfmmcm
indicated

2,4,12,24,72, 7 -

R g W Aoh F, ﬁﬁﬂmnﬁftﬁqmmyﬂmmm
2,4,12,24,72, — 2 _?

(1) 144, 432 (2) 144, 288

(3) 144, 420 - (4) 140, 400

(N | (Turn Over)
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12.1f the direction signs are changed in such a way that south-east may become
uﬁ.‘nuﬂ;-ul.metc.,thnﬂudhwﬁohohutwium
(1) South-West (2) South-East
(3) North-East © (#) North-West

PP — e L R L R
w2 9 it Rwn W amen

(1) SRowr v (2) gt
mwwl (4) FeR-fwm
13.1f the gign of + is indicating +,+hh-- isto x and x hm+ﬁmﬁndmuﬂm

value of
43+16+4-2x8+2~1

R+fmwmad . ®, . wad - W, nlﬂﬂixﬁﬂlﬂt w ok + B o e
o WA W aig

v 48416+4-2x84+2~]

(n3 (2) 9 (3)-1 42

14, Which of the following words is not made of the given word INVALUABLE ?
frafrirn § @ Wi w1 g Ry 7 weg INVALUABLE A aff v & ¢

(1) UNABLE (2) VALUE

(3) VALVE (4) UNLABEL

(8) (Continired)
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15, If after 20* of a menth, the fourth day was Saturday, thmonthc?.rdaflhalmunth
which was the day ?

(1) Sundey (2) Saturday
(3) Friday (4) Monday

2R firdh w8 ¥ 20 ot ¥ wrz Wy Bt wivre T B A I A B 3 e Y
1 @ 7 o g 7 .

(1) fem (2) nfmm
(3) P (4) SR

16.Find out the appropriate set of letters in the place of question mark — (7) —
HPME : GRJH :: QBDL : ? '
we firg (7) % TR R N ST WY W S 0GB, I I R
HPME : GRJH :: QBDL : ?

(1) PDAO (2) PODA (3) OCAO (4) PODQ

I‘Tlfhstm&foﬁ Q for —, R for x and S for +,thcnﬁndmllhevahmufﬂm

following :
80SI16R6Q20A10
aft A ® 99 + % Rve, Q w1 3wm — % g, R wr 3w tﬂlum Si:l:mih

+ & R Rem Bt @ frr R R @R
80S 16R6Q20A 10
(1) 10 (2) 20 (3)0 (4) 15

(9) "(Turn Over)
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18.1f Ram is taller than Shyam but shorter than Mohit, Mohit is taller than Shyam,
Prem is taller than Mohit but shorter than Rakesh, then who is shortest in height
among all ?

(1) Ram (2) Shysm (3) Mohit . (4) Prem

o T, W @ v § AR il @ wg e §, it wm S e g, 3 A
rmidfm i wisminFi i wivwat ?

(1) w= (2) wm (3) i, 4)
19.Find out the missing number o
8| 18|26
10| 7|36
18 | 24 | &2
W W W W $ife
8] 18|26
10736
18 | 24 | 42
(1) 6 (2) 24 (3)26 OF:

20.In the given diagram, number of students leaming science, arts and commerce is
indicated. Find out how many students learns commerce only, when some
students are learning two or all the three subjects,

[1'1}. ' - (Contimied)
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Re e fex % 37 wril At wen R g & S R, wer ot word g v ¥ |
TR T o 2 a1 woht AT v it o W A 3 el B v w S e W

ok
> Science (Rym)
ﬂ Arts . ;
A% =
v Commerce (%)
(1) 4 (2 24 (3) 10 () 14

21.To develop feeling of national integration among student is an objectives which is
termedas ' -

(1) Educational objective (2) Teaching objective
(3) Specific objective (4) Naticnal objective

ol & it wE R wie W s wE o 3tw AR s W e d

(1) Hftrs st (2) R A

(3) Rifire X (4) Tta st
22.DIET was established inthe yearof

(1)1994 (2) 1987

{3) 20_{!] {4) 1990

(11) ‘ {Tourm Qver)
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DIET (#,3mf.{2) % =waroen g of
(1) 1994 &7 # (2)1987 &R #
(3) 2001 ¥ # (4) 1990 &= ¥

23.In which year UGC became a statutory body ?
firm ot § frerfiroTen SRR oM (3,30,3,) w6 v gen w7

(1) 1954 (2) 1956 _(3) 1957 (4) 1961

24, Education in ancient India was mainly based upon

(1) VedicText (2) Teacher

(3) Student () Toaching eckmique
ardia v # fvn qeve: svarie o

(1) 4R% BT W (2) FTH R

(3)sm R . (4) P el

IS.MMhﬂtlmunmwhiqhhm

(1) Dynamic nature (2) Ancient nature

(3) Static nature (4) Knowledge oriented nature
firn firht u Tl & o e | we d |

(1) e WHRY (2) s R

(3) o vl (4) o7 sarfe /W W

(12) - , (Continued)
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26.'Library is the heart of a school." It was stated by

(1) John Dewey (2) Johnson
(3) Kilpatrick (4). Rousseau
e Redh frarers w5 wen B & 1w e Ray
(e ddfigm (2) WA TR
(3) Remtfew 2 OR

27. Guidance programme is considered as a part of school programme. For right
selection ofcurﬂmﬂmmdmmnmwhinhlypcnfmﬂdm is required ?

(1) Vocational (2) Personal
(3) Educational (4) Social

e worlast ) fwrerdt sl w1 g st s s & | e v st g
w1 W ¥ g few sr & AR 6 svavaar ied 8 7 :

(1) SR (2) nﬁm'
(3) Mrs (4) amnfirs

28.Recently, tw:hmg is well known as teaching-learning process because its
foundation is basically based upon

(1) Philosophical theory
(2) Psychological principles
(3) Political nature of the country -
(4) Sociological cancepts
(13) ' (Turn Over)



165U/84/6

srwe, fvge w fimgw- mmtﬂimh:mmmiﬁiﬁsw:
mmﬁﬁmt

(1) T R =

(2) FrkwPre Rt ®

(3) X @ TR TR T

{4)mﬁmﬁwq=mﬁm
n.m‘mmw'ww?

(1) 28 Pebruary, 1986 (2) 28 February, 1985
(3) 28 March, 1987 (4) 28 February, 1984
%m wffy’ = wa G e TrlT ?

(1) 28 wewdl, 1986 (2) 28 wowll, 1985
(3)28 7, 1987 C (4) 28 Wl 1984

30. The Montessori Schools insist on

(1) Creative teaching @) mmiplg F o iniiiig
(3) Complete discipline (4) Equipped school bulldings
el framere wer v wd §

(1) quAmes: fga W (2) ¥ witiew ¥ frew W

(3) Tf wHwwE ® (4) W ¥m fravew W

(14) ' (Continued)



15U/84/6

+SECTION-B
g - X

31 Thmﬁ:mf,led!metingalongthuidnﬂ.ch CAof an
equilateral triangle ABC. The magnitude of their resultant will be :
wrg B ABC % yawit 4B, BC R C4 % wwd 3 o7 ww wow: P, 2P 1w

3P S & 1 3% ol = !Tkmﬂm
(1) P2 : (2) P3
() PV (@) PS7

H
32 mmofﬂm&wnf(x‘—%} i8:
EEIRT Y
(11360 - (2) 1362 C(3)1364  (4) 1365
33. It U= {1,23,4,5,6,7.89}, 4= {1,234}, B= {Z.MBHNIC {3.4.5,6}
then the value of (8- CY isequalto
W U= (123,4,56,7,89), 4= (1,234}, B=(2,4,6,8) o C={3.456),
N (B-CY W WA WA BFT -

(1){1,3,4,5,6,7,9} (2) {1,2,4,5,6,7,8,9}

(3){1,3,4,6,2,8,9) (4) {1,3,4,5,6,8,9}

(15) , (Thuorn Over)
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34. Thevahieof Je wili be:

Je W W i’lm -
(1)1.348 (2) 1.447
(3) 1.648 (4) 1.547

35, The value of x obtained from the equation (4)™" +(9)™* = (1)™" is
equal to : '

e (4)°% +(9)* = (10)*" & ww x w1 W wow & -

(1)2 (2) 5

3w (4).100

|
36, 1 ot 1o arithmetic mean between a and b, then the value of 7 will be :

a+b |
R g v p & = TR T E—'E,'—l'b;l ¥ A n w1 A ¥R -
(1)o (2)-1
o1 )2

3. 32:2whmdtﬂdedhy7mmnmghdu:
32% ® 7 ¥ fawf WA Wt v R -

e - @5 @3 “4
- (16) k (Contintied)
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=) (22 it b cquato:

s, Thevmofun"‘(

() mmmin-

n m+n

x K
@3 @7

XYY

Wx @

39, mwﬂrpemmnyufmﬁmmummhmmm

3 e @ 3sban w A Rl it % Wy o 6 IR e 2

mB @ _‘;_i ®) i,fi @5 .

4y :
40, Ifdr’ ¢, then ;.

“ﬁ g—:l‘. ﬁ -
{1].;"?‘?3'*& _ (2) y-%-:-h:rd-#
(3) y=e*+ax+bd | (4) y--‘:'_+m+a

(17) (Twrn Over)
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41. The maximum value of x* will be:
£ %1 TSR AR N -

olff o OF BECT

42. The value of0.423 in the form of a fraction will be :
s fim % w9 § 0.423 = WR @M -

419
(1) 5o @) 35 OF JNOE =

43. 1f2c, "R, =57 : 16, then the value of n will be :

R g, : "' P, =57: 16, T n W WR W1 -

(s - @19 (3) 20 (4) 21
4. The o I Ix+5 o
partial fraction of 7Tormry 18
Ix+5 i
I]+41+3m fom -
2 3
f”m*m @ T m T
S i3
f‘-’*im 743 L Jers i
(18)

(Contimued)
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lu=[""'°” """’].mmﬂmuu.-.ou-lwmbe:

®

sing cosa

.ﬁi-[ﬂﬂiﬂ -ﬂnﬂ}’ﬂrlvmm_

ginag cosa

[sina  cosa | sina  cosa
(L [cosa -sing | @) ¢osg sna |

[¢cosa  sing | cosa ~cosar]
©) -sinag cosa (4) sing sina |

If(?f+6}+ﬂi):(f+l}+ﬁ}-ﬁ,ﬂmmmueuf,1 will be equal to :
afe (ﬁ+ﬁ}+27k-]n{;+4j+.ﬁ)-ﬁ, M A W AR WO R -

(1)0 (2)1 (3) 2 (4) 3

Ify-x"‘,ﬂwn%willhuqmlln

ﬂy=x“;',lﬁ %mﬁm—

y S
M (1+ ylogx)z {2:) (1-ylogx)x
y | >
C) =S loga)s @ e

(19) . (Tkrn Over)
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. mmor[m..!iﬁ]*wmumm:
[IT;W]%IHH“#II- |
(1) 1442 @) 1-2 (H2+2 @) 2-2

. Thevalueof “Cs3.™/C, willbeoqualto:
J=l

*q-rg’”c, W WH WA 9 -
me,  @°C, B, @,
S8, m@m#fhhmﬂnﬂ{ 'I:," will be : |
";"' % oW ¥ x* W v PPn -
{1;%[.[.;.5} 2 1'{-_(.+.:)
a-nb a+ab

(3) ™ (4) T

(20) (Continued)
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51. If sides of a triangle are (x* + x+ 1), (2x + 1) and (* - 1), then the greatest
snglo will be ;
ﬂwﬂgimwun),mnjnw 1) § &, 0w W Wy
w g -

(17s° (2) 90°
(3)120° 4) 150°

52, 1fm‘0+ﬁ=‘9-5_mm=mofa willbe :

R m-'iuin'e-;.i W AR -

M iﬂt% (2) 2mt T
(3) u:t-} ) -'2!'17:-

53. Thmmynfwwhhhmwmapoimﬂﬂ)md
(32.2) s
A3 (3,0) v (32, z}ih-ﬁumaml -

(i | @ -‘?—
k]
@) 1"_} O =

(21) : | (Turm Over)



18U/94/8

4. Thev-luor,},t_jfmh:g will be equal to :
_n
|

el ™ W R -

W0 Qe A1 @)=
% &
[y e

* &
,I *(1+logz)y Tt -

5
w3 @F ol wi

1
x' =22 +1 will be

$6. On the basis of L' Hospital's rule, the value of It > B
o.qm.lto:
e s o 5 e It 22041 w1 -
" = Ao
(1)0 -1
(31 _ 4) =

(22) . (Continued)
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59.

i

If aN = {ax:x € N}, then the value of 3¥ (7N willbe:
o aN ={ax:xe N}  INNTN & 5 ¥F0 -

(HIWON (2)2IN ()1EN (4)27N

Straight line & + my + n = 0 will touch the parabola y? = dax if
w0 Y e + my + n=0, TR * = 4 ox N w0 W IR '

(Dal=nm @) d=mi  ()im=ar? @) In=am?
The angle § between the vectors a=i+j+k and E.f-j+_i \urillbcequﬁ

to . . i
afem =i+ j+k T Fuf—juﬁ-f % offe w1 W 0 W B -

w=l) a=() o=l o=l

The equation of the plane that contains the point (1, - 1, 2) and is perpen-
dicular to each of the planes 2x + 3y~2z=5and x + 2y~ 3z=81is:
feg (1, - 1, 2) W) o ¥ W@ wo oW 2x o+ 3y - 2z= 5 A
x4 2p-3z=8 & ¥ welrw ¥ o e w1 wieo - |

(1) Sx-dy-z=7 ~ (2) 4x=Sy~z=7

(3) Sx-4y-z=T7 (4) 4x+Sy—z2=17

3) . (Turn Over)
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61 m“uf.wwmmm.l 1), B(1,23)and C (2,3,1) as its

62.

vertices will be equal to

o fngr & i 4 (1,1 11,5(1,2.3)mcm.|;tu\mimh-

mz;M @ 3F @ VI @ 3V

Tbauuafth-ugimmodebymy-x’ and lines x = 1, x = 2 and x - axis

will be equal to :

W% y = x T Rt =, x = 2 v x-ov R Pfife Sy @ wow Bm

kl}gs'ﬂ"ﬂh @ %wu @) %wmiu ) -:--q-miu'

The value of ,fza". 27 24dx Is equal to:
P ——

| z!" c 2+
v
ﬁ}m:hc ) (Tz_)"’ +C
(%)

(Continued)
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Which of the following is s mapping of {(,1),(8,1).(c.1).(d. 1)} ?
(1) Constant mapping (2) Inverse mapping
(3) Into mapping (4) Onto mapping

Peofins 32 w8 {(a,1),(b.1),(6.1),(d.1)} 1 sfafer & 2

(1) srere fiferor | (2) vl e

(3) =g 8t it _ (4) wreargs SRREw

If A= {1,2,3,4,5) and R = {(x,) : x> 2,y =3}, then the domain de;lngq of
| relation R will be : :

(1)(2.34) and 2 () (1,2.3)and 1

(3)(2,4,5) and 2‘ (4) (3,4,5)and 3

TR A= {1234,5) TR = {(x)) : x> 2,y =3} W THY R & 2a 3
qfreT B - :

(1)(2,3,4) T 2 2)(1,2,3) 7@ |

(3)(2,4,5) 7w 2 © (4)(3,4,5) W 3

(25) [Turn Over)
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1-n

66. 'Ihcvuhtufih&'i-:rwillbe:
ﬁml-n’
R g -
(1)~1 (2)1 B)-2 (@2

67. The simplest form of tan™ {J-;x—x;Jr‘““‘”. is:

a -
m"{?ai—t?-},-a-:x-:q wEe sl -
-|£ . _Ix
(yeouy (2) sin”™ =
-1 4 =
(3) cos”' < OL

68. If x,y,ze[-L1] such that sin™'x+ liﬁ"yﬂiﬁ"'!'%!. then the value of

o S

Yy 4 o e will be:
R x,y,ze[-11] wie sin” x+sint y +=in"':-1:- !h
o x - 9

-+_}' +I mmmﬁlﬂ-
(1)0 @1 3)2 @3

(26} | | Cﬂm
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If a coin is tossed 6 times randomly, then the methods of finding 4 heads and
2 1ails of the same coin will be :
!ﬁwﬁiﬁﬁmwmmtﬁmﬁiﬁ 4 ¥fvd ik 2 7o WIH
w0 6 faftwt ol -

()8 @)1 (3) 15 @) 19

¥ =Tx+6 .
15

The maximum value of the function y = e

x=Tx+6
x-10

mi @3 35 @7

wFEmaE R -

FH =

lff[x [ ] will be equal to :

R f{x}=l'“" L f[ )mwﬁmﬂmf

l+cosx '

(Ol (2)2 3 -1 4) -2

!fP(E,)-—:-,P(E,)--;- and P{E;ﬂEl}ﬂ%.ﬂnntlumlmofP(EﬂEz) will
be equal to : (P stands for probability and E,, £, stand for two different
incidents) .

R P(E)=3, P(E)=3 o P(ENE)=7 @ PENE) W
!.’ITEI-

(P = iR E,, E, = 3 Rftm v

1 4
m: @7 O3 @ 3

(27) " (Tirn Over)
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73, mlimxhl‘lmthlnhhxhy'-lnihzm
hx+p-2,wf+f-2dﬁwtgﬂnﬂﬂillt-'
(1)1,2) 2)(-12) (3) (0, 0) {4}{1-1}

74. mmmmelmwmbymuqm x*+2xycoth~y' =0
;Iwr;umma y’-uwﬁ:ﬁn’mﬁimwﬁﬂ-

(1)30° (2)48"  (3)60° (4) 90"

g :
78, Theomnplﬁalolmmof{f-stﬂbtph
;r ¢+15r-0m\iml-

(1) ™ +¢.c" (2) o +e,e™

(3) e tee’ (4) ﬂrl'l" G

(1)2 (2) 4 31 (4)0

(28) : (Contimusd)
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. uumaﬁmr-g‘i—’; &t the point (1,1) be 2, then the values of @
and b will be equal to : ‘ |
R =T W A (1) WSR2 4, N a5 TR o -
(1,2 2)2,1 (33,2 4 2,3

78. 1f"P,:"P,= | : 2, then the vahue of n will be :
R P, Py=1:2, W nwram @ -

(14 )5 (3)6 47
79. A2 2 matrix 4 = [a,] whose elements dre given by a,--i%ﬁ will be :

T 2 x 2 3y A =[q,] , Rees s aﬁ‘%’iuﬁﬁiﬂth-

9 25 wul o e8] [r 4]

2 2| |2 2 2
(1) @ ® @/,

8 18 6 18 8 18] = 8

| 80. Asymptote of the curve »’ = x*(x-a) is: .
w ) =¥ (r-a) \ vl § -

(1) ?"“%ﬂ (2) -"'-“"%" (3) J'"%'ﬂ (4) y-‘%ﬂ:
(29) | {MW}
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81. The marks obtained by e group of students in two examinations, held before and
tﬁwmmﬁwmmnﬂm%ﬁﬂmmmm&mm
mmmwwmmm&smnmSmemswm:,

Statement(S) : We should use sign test always in place of paired t-test,
Reason(R): Because sign test is more powerful than paired t-test,
Choose the correct comment on the above suggestions from the following :
(1) Sis true and R is its correct explanation. |
{2}SismbutRisnmlummpMm.
(3) S s false but R is true.
(4) Both 8 and R are false.
it 5 o o 7, el e e 1 o e g, @ w3 e v v
K 1w e v ¥ 6w wiflor % et ) st 3wy W wemm @
T | feeft o 2 gwm R fs | N
w(8) : il whe qm t-vh & v w Rrg-afer = s wE i )
. FA(R) ; Fiife g -vle g t-vhm ¥ s vhemeh & |

R & @ Ivfe gum w aft Rooh w v @it

(1) S &ft ¥ ol R vl ot waremm B |

(2) 5 w8 Yo R vt ot vt 4 |

@G)Swmt Ty R A | |

(4)SaM R At om § )

(30) , " (Continued)
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82. Which of the following is non-parametric test for testing the goodness of fit 7

(1) Chi-square test.

(2) Kolmogrov-Smimov (K-S) test,

(3) Both Chi-square and K olmogrov-Smimov (K-8) tests,

(4) Neither Chi-square test nor Kolmogroy-Smirnov (K-8) test,

e gy & vhu % R Ao 3 3 W srree wer g 7

(1) wrf-wf when

(2) wrewmva-fewia vl

(3) wef-wt sl wreimra-few 26 viem
(#)7 D - vt 3 SRR e

.MMM&fﬂlmﬁmﬂhp@uﬁﬂmm‘mmwMﬂuﬁm
particulars is called :

(1) Sampling design. (2) Sampling frame.

(3) Population design. (4) Population frame.
Rt o 6 vt vt 6t s T e R g
(1) stk s (@) i

(3) v wftweeen (4) s ¥
' (31) ~ (Turn Over)
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84.In 8 6x6 Latin Square Design with two missing observations, the error and
treatment degrees of freedom are respectively

(1)18,3  (2) 18,5 . (3)20, 3 (4) 20,5

2 W ol A 6x6 AR W aftveeem # IR ok IR @ w0

(1) 18,3 (2) 18,5 (3}2&. 3 (4) 20, S. '
Lol

83.The following is the layout of one replicate of a 2'- factorial experiment
Block 1 [(1)| b |ac | abe
Block2 | a |ab|c ] be

The interaction effect confounded sbove is - |
(1) AB (2) AC . (3BC (4)ABC
Prerfirfars R 2 T siftreeaan 3 o wiveiv it e & |

avgl |(1)| b |8c|abe
WVE2 | a |ab| e | be

3w 4 Prfim a=i= e
(1) AB (2) AC (3)BC (4)ABC
! _
86.The data related to a factorial experiment with factors A and B each at two levels
and with three replications are as follows : _
[1]=18,  [a]=17, [b] =25 and [ab] = 30.

The sum of square due to interacion AB is :

(1) 6 (2) 4 (3) 3 (4) None of these.
' ' (32) (Continued)
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fwrw AB mﬁuﬁmmmmwmmam
ey Fraftrfs § 1

[1]=18, [a]=17, [b]=25 ~ and [ab] =30
F= AB % R 7 %1 A |
gl} 6 (2) 4 - 33 (4) vt | W
! :

87. A Latin Square Designis a |
(1) Completetwowny layou.  (2) Tocomplee two way leyout
(3) Complete three way layout. (4) Incomplete threc way layout.
o &R i aftrseen

(1) oot T sfiramm (2) et Rt aefieve
(3) g Fawft v 4 et el ferear
i

§8.Let p.C and C, denotethe correlation coefficient, coefficient of variation of
auxiliary nhanotemticsmd coefficient of variation of main characteristics
respectively. Mwmndmmaﬂimmnmphmnf
7en B p.C, 3 C o wwwaey s, vy siftreger & fasor e sk
Wuﬁmmgwmﬁﬁumﬁhgwmmnﬁ:ﬁmﬁﬂwﬂm@
g & af?

(1) 2pC, >C, (2) 2p0C,>C,
(3) 2pC, <-C, (4) 2pC, <-C,

(3) . (Turn Over)
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ﬂhupmi}hmd&viﬁeﬂwpcpuhummiuinlomhwumnnfmmmnhﬂm
subgroup variances are equal. Then we should use

(1) Stratified sampling selecting units from cach subgroups.,
(2) Stratified samphng selecting one unit from each subgroup.
(3) Cluster sampling selecting few (more than one) subgroups.
(4) Cluster sampling selecting one subgroup only. -

mwﬂﬁmmwﬂﬁﬁﬁﬂmﬁmmmhﬁ:mﬂimm
0|

(1) 53 Fwari & vl g g Tt i
{2) 7 Wt R o v T R woke shwe
(3) ¥% (W ? Fftrw) 39l B R R 78 WRwE

(4) ¥t 7% vt o W e Wi
I WM 0 Wi |

99. Read the following statements carefully :
8, ¢ Symnﬁcmplh;hpuﬂywﬂﬁuwpuﬂym-pmhﬁlm
B Symmnmnpﬂngmﬁduudﬂamduﬁmmifﬁmmmpmodw
feature in the list of units.
Choose the correct answer from the following :
(1)Both S, and S, are true. (2) S, is truc but S, is false
(3)S, is false but S, is true, . (4) Both §, and S, are false.

(34) o (Continwed)
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Frfrfs sl wr srrgpls Ry

S, : g yRrws s wifirss altc st sr-mims B

S iﬁmﬁﬂwiymﬂlmiﬁm:ﬁmmmm
wm k|

Rrefrfen # 8 Wit 3 % wR WY

(1ys,3M s, I wh ¥
{2}5, iy s, k)
(3) 8, e & vy S, Wt 0
(4)s, o s i mem & |
1. The t-distribution with one degres of freedom is equivalent 10
(1) Cauchy's distribution.
(2) Beta distribution of first kind.
(3) Beta distribution of second kind.
(4) Normal distribution.

T TR W A t- WA

(1) wrelt %29 (2) wum R & Wi WA
(3) fefre www % fter W (4) TR ¥E
¥ ag R )

(35) (Torn Over)
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n.xwmuunul.szddmmmthﬂydhdhmP.mmmw
mdPtmduﬂtemuﬁveWuﬂvmhahw:
X I 2 -3 4

Po: 2/13 3/13 3713 sp3
P: 213 3/13 113 743
Consider the critical regions W, = {1,2},W, ={1,3} and W, = {4].
Read the following statements : j
S, : All the critical regions have same size §/13.
S,:wgmdw,huaqudpumhﬂmtbanthnufﬂ.
Chomethemmmﬂmﬂufollmring: :
(1)Both S, and S, aretrue. (2) 8, is true but S, is false.

(3) S, is false but S, is true. (4)-Both S, and S, are false,

Mﬁaﬁﬁmmh.z,sm4mﬂlm\,xﬁl&m%mm#
o % T T dfRew vl & sy sl vor p& a, Sk
X: 1 .2 3 4
Py: 2/13 3/13 3A13 53
P: 213 343 103 103
WS 8 W, =(1,2}.W, = {1,3} and W, = (4}. ® mfRy |
Rt il w wargis iy ;
§, : oft Wi &% WA SmeR 5/13 AR B
S W W, @ W, W e,

Freaforfam & 3 o s w v whd
(1) S, s, 2T wt & Qs mitwygs mme
G)s, vy s whe (ﬂﬁw’lﬁ!ﬁMMQ-t

(36) " (Comtirmed)
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93.Let X denotes the sample mean of a random sample of size # drawn from normal
population N(j,6”). The INCONSISTENT estimator of p is:

X TemFT @ N(p.o )inm%mﬂmﬁuﬁmﬁmﬁﬁﬁlm
} 1 v W P FrEEE

. 1 | ne DX 10
, §oo

0 5n . ) n+50

p )4n*${+1mn+71 (4}. 702X +100n + 747
4n° +815n-750 9ln’ +180-175

4

_Mkndthefnllawm;mmm '
: Ifa non-negative integer valued nﬁdnmvuiabltpmmlackofmmmy

property, it follows geometric distribution.
8 :Ifa mﬂnmr:ﬂmvﬁ&hpmmulanknfmm it

follows exponential distribution,
Choose the correct answer from the following ;-

{I}H:;ﬁ&nqu,mm. (2) 5, is true but S, is false.

(3) 8, is false but 8, is true, - {4)'Buﬂ13.alld3,mﬁlse._
Rrefrfir st ® wrgls R :

S, : Wy vitvega siwm: wfes ol st w-wfs 4 )
§, : wR vl 9 g 3 o swrdl o § ot ey v e smeens e

s d
Rrefirfrn 3 & wft ot W = Wil _
(1) s, 3k s, 2= aft § (2) 5, @ vy s, m ¥y

(3)s, "miveg s wh k) (4) 5, ¥ s, 2t mew §

{37) ; (Twrn Over)
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95, The mean weight of 150 students in & class is 60 kgs. The mean weight of boys is
70 kgs and that of girls is 55 kgs. The number of boys and girls in the class are
respectively : ‘
et = % 150 ot w1 v w60 B, 3. & 1 et st w70 BeL L ol
orsfirat =1 55 6. 7. & 1w o el aie erafindt Y T

(1) 50, 100 (2) 75,75 © (3) 80,70 (4) 100, 50 |
L. J

96.For moderately skewed distributions, it is empirically observed thul,
(1) Median = 3 Mean -2 Mode. (2) Median = 3 Mode -zm
(3) Mode =3 Median -2 Mean,  (4) Modo = 3 Mean -2 Median.
e Prew st % R, am rgwtes St & R
(1) S = 3 We-2 e (2) Wi = 3 wyERe-2 AT
(3) mgevE = 3 wifemE-2 W [4}!§m=3m-2‘mﬁr’m{

97.Letr, and n,, denote the correlation coefficient between X and Y and correla-
tion ratic of X on Y respectively. Change of origin and scale changes the value of

(1)r, only. (2) 1 only.

(3) Both r_ and n,, (4) Neither r, nor 0, -

(38) {Continued)



mfyd fs r sf n,, @ xmvkmmwmxw\'wm
sram Fifte wat § | iy i S oitefa @

(1) s, (2) ¥
(3) r;,a'-ﬂl_l],, At OEEML LS B
¥ o e R

98, The chance that a doctor D will diagnose a disease X correctly is 60%, The chance
that a patient will die by the treatment of the doctor D even after correct diagnosis
of X is 40% and the chance of death after wrong diagnosis is 70%. A patient of
doctor D who had dimxdiedaﬁmhinmunm.Thepmhlhilityﬁhthis
disease was correctly diagnosed by the doctoris
wrf zrwex D fneh O X = wft frewor wim, maﬂwﬁﬂ%timntm#
fireft Tl % X % wft Freur % 0= g w1 EE 40% ¥ 1wt D 3 R ot <,
il Im X @1, IR & wg gy 0w | YRR D R 36 1 w1 Wl e gen o,
fwfim '

(1) 713 (2) 6/13 (3) 6725 - (4) 8725
R :

99, Which of the following cannot be probability generating fumtwn ?
Prerfrfera % A W i oo wem T R 7

(1) s”@2-9)" (2) (1-5)/10(1-¢)

(3) s/(2+3) (4) 4°(143s)"

(39) (Tuarm Over)
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100. In a multiple choice test having 4 choices in each question, an examinee knows
the answer of 75% questions and guesses the answer of the remaining
questions, The probability of answering the question correctly is 1, if he knows
the answer and 1/4, ifhcmlfmnmnummnmuﬁmmmy
the probability that he really knew the answer is
sredrs et 3 4 Flvee Tad) ek finelt ang R whan 3 wirf sl 75% el & e
e & ol e Wt & 3w e e | S el w3 9 e
1%, oy 3o wrm &, s 1/4 8, 7wy e e & | 3R ¥ oRerd R
mwﬂﬁmﬁmtﬂwmimmtﬁm

(134 ' @) 11116

3)12/13 ' C(4) 1113
&

(40) B--3,000
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11.
12.
13.

14,

v gfem e & 10 f % s ft 3w @ s s o wdh ge s & sl o e g b
SRR 2 T W T Y g v g frtee W 3n ot e W g gt o w &)

vhwn e 3§ Arovey vy stw-vx % B, R T W W R gen wow ww H 3 ¥

I sreen & Rt v & 1w o o ke 3 o e | g o T R ¢ e T
o W o e Ry o |

WA FIWA® AW IR-G W WAE ST A0-g¥ v 97 # Poife v w R |

' m—wiﬁpw##mmﬁr%mwﬂm#ﬂ gyl W mgrwr d )

- W wrve gt Tyl T-gIRT W e a v W o v et w R )

A, W, A, @ T AP W, TG Fwn 3 ¥ won (aR W R) mo ww- o
FPFATE Fo SR 3, T, A, T o o wfft F sufdve ) et T R |

'muﬁlﬁiﬁitu&dﬂnﬁﬁmwmﬂmmﬁimqnaﬁmnm

HET WM

TE-3R 7 i v & el v R R § | e e & deRw TR % B anvwd amr-
uﬂnﬁaﬁimmﬁmdmuimww!*#w*w##w
L2 f 20 '

mmtmtﬂﬁMWﬂ@ﬁmﬂlwﬂuﬁtwﬁmmwmmwﬁ

AP W W T IW R W= AR |

mi&wmnﬁmaﬁmmﬂnmhﬂmhﬂmnm#ﬁ?m
f.ﬁtmﬁnﬁf&stnﬁﬁiﬂﬂmﬁﬁﬂmmi | W WE W atw R o

nﬁtﬁmmtwtwmgmmmwmmﬁ;
ot & T Sver ar, 4, R, v gt v o
when wuw ¥ & et Wi ve A e S ) a6 e )
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